
UNIFIED INTERNATIONAL ENGLISH OLYMPIAD - 5P104  (UPDATED)

website : www.unifiedcouncil.com

01 B 02 C 03 D 04 C 05 B 06 C 07 D 08 B 09 C 10 D

11 B 12 C 13 A 14 D 15 B 16 D 17 B 18 C 19 D 20 C

21 B 22 C 23 D 24 C 25 D 26 C 27 D 28 B 29 D 30 B

31 D 32 C 33 D 34 C 35 D 36 C 37 D 38 B 39 C 40 D

41 C 42 D 43 B 44 A 45 D 46 C 47 D 48 C 49 D 50 C

KEY FOR CLASS : 08

Please note that this key is within the purview of Oxford Advanced Learner’s Dictionary, published in 2014.

Explanations and answers to select questions
02 Option (C) is the correct answer. Its homophone is ‘Divers’.
08 Option (B) is the correct answer. Flurry = Flutter+Hurry.
09 Option (C) is the correct answer. The five other words are : least, slate, steal, tales, teals.
10 Option (D) is the correct answer. It’s a noun/name used for a species and it doesn’t specify a gender. That’s

a noun with common gender.
11 Option (B) is the correct answer. The adjectives are : ‘His’ and ‘outstanding’. Possesive adjectives in English

(his) refer to the possessor and not to the thing possessed.
12 Option (C) is the correct answer. They are : Se-vere.
21 Option (B) is the correct answer. Only ‘judicious’ provides an agreeing collocation to ‘kind’.
23 Option (D) is the correct answer. The pronunciation of ‘m’ is as in ‘aim’, a vowel sound, so ‘an’; the

pronunciation of ‘u’ is as in ‘you’, a consonant sound, so ‘a’; and pronunciation of the first syllable of
‘manual’ is as in ‘man’, a consonant sound, so ‘a’.

25 Option (D) is the correct answer. The action (of standing) started before an hour and is continuing till the
time of speaking (take) present tense, so present perfect continuous.

27 Option (D) is the correct answer. The phrase ‘together with’ is not a conjunction and neither does it work
as one. That leaves the verb, only a singular subject (bride) to agree with.

30 Option (B) is the correct answer. In order to make transition to indirect speech, we need to use a past tense
and that is not possible with ‘must give’. Hence, we need to use its equivalent ‘had to’.

32 Option (C) is the correct answer. Only that is a homophone.
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